The group G is isomorphic to the group labelled by [ 40, 14 ] in the Small Groups library.
Ordinary character table of G = C10 x C2 x C2:

la 9a 5b 5c 5d 2a 10a 100 10c 10d 2b 10e 10f 10g 10h 2c 10z 105 10k 101 2d 10m 10n 100 10p 2e 10q 10r 10s 10t 2f 10u 10v 10w 10z 2g 10y 10z 10aa 10ab

X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

X2 1 1 1 1 1 -1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 —1 -1 -1 1 1 1 1 1 -1 -1 -1 -1 -1

X3 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1

X4 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1

X5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1

X6 1 1 1 1 1 -1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 -1 -1 -1 1 1 1 1 1

X7 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 1 1 1 1 1

X8 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 -1 -1 -1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1

xo | 1 E(B) E(G)? EG5)? EG* 1 EG) E(B? E(B)? EG* 1 EGB) E(5)? EG5?* EG?* 1 EG5 E(b)? EGB? EG5* 1 E(b) E(BK? E(b)?® EG* 1 EGB)  E(5)? EG5?* EG* 1 EG5 E(b? EGB? EG5* 1 E(b) E(5? E(b)?  E(G)*

xwo | 1 E(B) E()? E(G)? EG)! -1 -BE(5) -E(5)? -E(5)° —-E(G)* 1 E(5) E(G)?  E(G)?  E(G) -1 -E(5) -E(G)? -E(G)? -EG)! 1 E(5) E()?  E(G)?  E(G)! -1 -E(5) -E(G)?* -E(G)? -EG)! 1 E(5) E(G)?  E(G)?  E(G) -1 -E(5) -E(5)? -E(5)?° -E(5)

xu |1 E() EGP EGP® EG* 1 EG)  EG)?  EG)  EG) -1 -E() -E(5)? -E(G)P -E()* -1 -E(5) -EG? -EGP -EG) 1 E(G)  EGP  EG)P®  EG) 1 E(G)  E(G)? E()?  EGY -1 -E(5) -E(? -EG)P ~EG) -1 -E() -E()? -E()° —E(5)*

xi2| 1 E(B) E()? EG? EG?* -1 —-EGB) —-E(G)? —-E(5)? —-EG)* -1 —E(B) —-E(G)? —-E(5)? —-EGB)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(G)? -1 —E(B) —-E(G)? —-EG6)? —-E(G)* -1 —-E(B) —-E(6)? —-E(5)? —-E(G)?* 1 E(5) E(5)? E(5)3 E(5)*

xi3| 1 E(B) E(5)? EG)? EGB)* 1 E(5) E(5)? E(5)3 E(5)% 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(G)* -1 —-E(B) -E()? —-E(5)? —-EG)* -1 —-E(B) -E()? —-E(5)? —-EG)* -1 —-E(B) -E()? —-EG6)? —-E(G)* -1 —-E(B) —-E(B)? —-E(5)? -E(B)*

xie| 1 EG(B) E(G)? E(5)? EG)?* -1 —-EGB) —-E()? -E(G)? —-EG)?* 1 EGB) E(5)? E(5)?® EG?* -1 —-E(b) —-E(B)? —-E(5)?® —-EG)* -1 -EGB) —-E(5)? -E(G)? —-EG)?* 1 EGB) E(5)? E(5)?® EG* -1 —-E(b) —-EGB)? —-EG5)? —-EG)* 1 EGB) E(G)?* EG(5)? E(G)!

xi5| 1 E(B) E(G)? EGB? EG)* 1 E(5) E()?  E()?  E(B)* -1 —-E(B) —-E()? —-E(B)? —-EG)* -1 —-E(B) —-E(G)? —-E(5)? —-EGB5)* -1 -E(B) —-E(5)? —-E(5)? —-EG)?* -1 —-E(B) —-E(6)? —-E(G)? —-EGB?* 1 E5) E()?  E(B)?  EG)?Y 1 E5) E()? E(B)? E(B)!

xi6| 1 E() EG)? E(5)? EG)Y -1 -E(5) -E(G)? —EG? —-EG) -1 -E(5) -E()? —EG? —EG)* 1 EG5) E(G)?  EG? EG)Y -1 -B(5) -E()? —EG? —-EG)* 1 EG5) E(6)? EG? EGY 1  E5) E(5? EG? EG)! -1 —-E5) -E(5)? —EG? —E(5)

xir| 1 E(G)? EGY EG) EG? 1 EG? EG)Y  E(5)  EG? 1 EG? EG)Y  E(5) EG? 1 EG? EG)Y  EG) EG? 1 EG? EG?*  E(5) EG? 1 EG?® EG)Y  EG) EG? 1 EG? EG)*  EG)  EG? 1 EG? EG)?Y  E(5)  EG)?

xis| 1 E()? E(5)?* EGB) EG? -1 —-E(5)? —-EG)* —-E(5) —-E(5)? 1 E(5)? E(5)* E(5) E()? -1 —E(5)? —-E(G)? —-E(B) —-E(G)?® 1 E(5)? E(5)% E(5) E()* -1 —-E(5)? —-E(G)* —-E(B5) —-E(B)? 1 E(5)? E(5)% E(5) E()? -1 —-E(5)? —-E(B)* -E(5) -—-E(5)3

xio| 1 E(5)? EG?* EG5) EG? 1 EGb)? EGB?* EG5) E(5)? -1 —-E(5)? —-EG)?* -—-EGB) -E()* -1 —-E(G)?* —-E(G)?* —-EGb5) —-EG)? 1 E(G)? EG?* EG5) EG? 1 EGB? EG5* E(b) EG6? -1 —-E(5)? —-EG)?* —-E(b5) -E(G)? -1 —E(5)? —-E(b)* -E(B) —-E(5)?

xo0| 1 E(B)? EG?* EGB) E(G) -1 —-E(K)? —-EGB)? —-E(B) —-E(G)* -1 —-E(5)? —-EG5)? —-E(B) —-E(G)* 1 E()? EG)?* E(5) E(G)? 1 E(G)?2  E()?*  E(5) E(5)? -1 —-E(6)? —-E(G)? —-E(B) -E(G)* -1 —-E(5)? —-E(G5)* —-E(B) -E(G)* 1 E(G)? EG)?* E(5) E(5)3

xo1 | 1 E(B)? EG)* E(B) E(B)? 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E()? -1 —E()? —-E(GB)* —-EG6) —-EG)? -1 —-E(5)? —-E(B)* —-EG6) —-E(G)? -1 —E(5)? —-E(G)* —-EG6) —-E(G)?® -1 —E(5)? —-E(G)* —E(5) —E(5)?

x2 | 1 E()2 EGY E(G) EG)? -1 —EG)? —-EG) -E(G) -EG)? 1 EG? EG)Y E(5) EG)? -1 —EG5)? —-EG) -E(5G) -EG)? -1 —E(5)? —-EG)* -E(B) —-EG)? 1 EG? EG)?* EG) EG)? -1 —E(5)? —-EG)* -E(B) —-EG? 1 EG? EG)?* E(5)  EG)?

xes| 1 E(G)? E()?* EGB) E(B)? 1 E(5)? E(5)* E(5) E()? -1 —E(5B)? —-E(G)* —-EG6) —-E(G)? -1 —-E(6)? -E(G)* —-EG6) —-E(G)* -1 —E(5)? -E(G)* —-EGB) —-E(G)* -1 —E(5)? —-EG)?* —-E(B) —-E(B)?® 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3

X2 | 1 E(G)? EGY E(5) EG? -1 —E()? —EG)Y —EG) —EG)? -1 —E(5)? —-E(5)* —EG) —-E(G)? 1 EG? EG* E(G) E5? -1 —EG)? —EG)* -E5) -EG?® 1 E(G)? EGY EG) EG? 1 E(5? EGB5* EG) E(5? -1 —EG? —EG* -E(5) -E(5)?

xes | 1 E(G)? E(G) EG)?* EG)? 1 EG)P EG) EG?* EG)? 1 EGB?* EG5 EG* EGB?* 1 E(5)?* EGbG) EG?* EG5? 1 E(5)2  EG)  EG?* EG5)?2 1 EG?* EG) EG* EG?* 1 EG(5?* EGbG) EG* E(5? 1 E(b)?®  E(b) E®G?* E(b)?

x| 1 E()? EGB) EG)?* E(G)? -1 —-EGB)?® —-EGB) —-EG)* —-EG)? 1 EG)?® EGB) EGB)* EGb)? -1 —-E(5)? -EGB) —-EG)?* —-E()? 1 E(B)?® EGB) EGB* E(b5)? -1 —-EG5)? -—-E(b5) —-EG)?* —-E()? 1 E(?® E(B5) EG* EG6? -1 —-E(B)? —-EGB) —-E(B)* —E(5)?

xer | 1 EGP E() EG) EG)? 1 E()°  E(G)  EG) EG)P’ -1 -EGP -E() —EG) -E()? -1 -E()* -E(5) -EG) -E(G)? 1 E()  E(G)  EG) EG)?’ 1 E(G)® EG)  E()} EG)? -1 -E()® -E(5) -EG) -E(G)? -1 —EG)P -E(5) -E()* —E(5)

xes | 1 E(B)? E(B) EG?* EG)? -1 —-E(5)? -E(B) —-E(5)?* —-E(5)? -1 —-E(5)? -E(BG) —-E(5)?* —-E(5)? 1 E(5)3 E(5) E(5)* E(5)? 1 E(5)3 E(5) E(G)* E()? -1 —-E()* —-EG5) —-EG)?* —-E()? -1 —-E()* —-E(5) —-EG)?* —-E(G)? 1 E(5)3 E(5) E(5)* E(5)?

xeo | 1 E()?® E(B) EG)* E(B)? 1 E(5)3 E(5) E(5)* E(5)? 1 E(5)3 E(5) E(5)% E(5)? 1 E(5)3 E(5) E(5)* E()? -1 —-E()? -E(B) —-E()?* —-E(B)? -1 —-E(5)?® -EGB) —-E(5)?* —-E()? -1 —-E(5)? -EGBG) —-E()?* —-E(G)? -1 —E(5)? -—-E(B) —-E(G)?* —-E(5)?

xso| 1 E()? E(B) EG(5)?* E(G)? -1 —-E(5)? -E(5) -EG)* —-E(5)? 1 E(K?* EG5) EG)* EGB? -1 —-E(5)? -EGB) —-E(5)? —-E()? -1 —-E(K)? -—-EG5) -EG)* —-E(B)? 1 EG?® EG) EG)* EG? -1 —-E() —-EGB) —-EG5)?* —-E(G)? 1 E(G)?®  E(B) EG?* E(b)?

xs1| 1 E(B)? EGB) EG?* EG)? 1 E(B)?  E(5) E(G)* E(B)? -1 —-E()?® —-E(B) —-EG)* —-E(5)? -1 —-E()?® -—-E(B) —-E(G)* —-E(5)? -1 —-E(B)? -—-E(B) -E(G)* —-E(5)? -1 —-E()?® -—-E(B) —-E(G)* —-E(5)? 1 E(5)3 E(5) E(G)  E(B)? 1 E(B)?®  E(B) E(B)?  E(5)?

xz2| 1 EGP E() EG)' EG)? -1 —EG)P —E(G) -E(G)* -EG? -1 -EG)P -E() —EG) -E()? 1 EGP  E(6)  E(G)' E(6? -1 —EG)P -EG) -E(6)* -E(? 1 E®5)°  EG)  EG) EG? 1 EGP  E(6)  EG) E(? -1 —EG)P —EG) -E(6)* —E(5)?

xi| 1 EG)Y EG? E(5)? EG) 1 EG?* EG)? EG5? EG) 1 EG?* EG)? EG5? EG) 1 EG* EG? EG5? EG) 1 EG?* EG? E5? EG) 1 EG* EG? E5? EG) 1 EG* EG? EG5? EG 1 EG* EG)? EG5)? E®)

xsa| 1 E() E()? E(G)? EGB) -1 —-E()?* —-E(B)?® —-E(5)? -—-E(B) 1 E(5)* E(5)3 E(5)? E() -1 —-E()* —-E()* —-E(6)? -E(B) 1 E(5)* E(5)3 E(5)? E() -1 —-E()* —-E()* —-E(5)? -—-E(B) 1 E(5)* E(5)3 E(5)? E(B) -1 —E()* —E(5)* —-E()? -—E(5)

xss | 1 E(G)? E(G)? EG5)? EG) 1  EG* EGB? E(5)? E(bG) -1 —-E(5)* —-E()? —-E(5)? -EGb5) -1 —-EG)* —-E(5)? —-E()? -EG) 1 EG)* E()? E()?  E(5) 1 E(?* E(G)?® EG?* EGB) -1 —-EG)* —-E(5)? -E()? -E(B) -1 —E(5)?* —-E()* —-E()? —E(5)

xss | 1 E()? E()? EGB)? EGB) -1 —-EGB)?* —-E(G)?® —-E(5)? -EGB) -1 —-EGB)?* -E(G)?® —-E(6)? -EG) 1  E(B)? E(B)? E(5)? E(5) 1 E(G)?  E()?  E(5)? E(G) -1 —-E()* —-E()* —-E(5)? -EGB) -1 —-E(B)?* —-E(G)* —-E(5)? -EG) 1 E(G)?* E®(5)? EGB)? E(b)

xsr | 1 EG)?* E(B)? E(G)? EGBG) 1 E(5)* E(5)3 E(5)? E(5) 1 E(5)* E(5)3 E(5)? E(5) 1 E(5)* E(5)3 E(5)? E(B) -1 —E()?* —-E(B)?* —-E(5)? —-E(B) -1 —EG)?* —-E()?* —-E(5)? -—-E(BG) -1 —EG)* —-E()? —-E(5)? —-E(B) -1 —E(B)* —-EG)? —-E(5)? —E(5)

x| 1 EG)Y EG? E(5)? EG) -1 —EG?* —-EG)? —EG5)? —-EG) 1 EG* EG)? E(5? EG -1 —EG* —-EG)? —-EG5)? —-EG) -1 —EG5)?* —-EG)? —-E(5)? —-EG5) 1 EG?* EG)? EG5? EG -1 —-EG* —-EG)? -EG5)? —-EG5) 1 EG?* EG)? EG5? E®)

xso | 1 E()?* E()? EG5)? E(B) 1 E(5)* E(5)3 E(5)? E(B) -1 —E(B)?* —-E(B)* —-E(5)? -E(B) -1 —-EG)?* —-E()?* —-E(5)? -E(G) -1 —-EG)* -E(G)?® —-E(6)? -E(BG) -1 —EGB)* —-E(G)? —-E(6)? —-EGB) 1 E(5)* E(5)3 E(5)? E(5) 1 E(5)* E(5)3 E(5)? E(5)

x| 1 EG)Y EG? E(G)? E(5) -1 —EG)?* —-E(G)? -E(5)? -E5) -1 —-E(5)?* -EG)? -EB(5)? -EG5) 1 EG?* EG)? EG5? EG -1 —-EG)?* -EG)? -E(5)? -EG5) 1 EG?* EG)? EG5? EG) 1 EG* EG)? E5? EG -1 —-EG)* -E(6)? —E(5)? -—E®)
Trivial source character table of G = C10 x C2 x C2 at p = 2:
Normalisers N1 Nl N2 N3 N4 N5 N6 N7 Ng Ng N10 N11 N12 N13 N14 N15
p—subgroups of G up to conjugacy in G Pl P2 P3 P4 P5 PG P7 Pg Pg P10 P11 P12 P13 P14 P15
Representatives n; € N; la 5a 5b 5¢ 5d la 5a 50 5¢ 5d la 5a 50 5¢ 5d la 5a 5b 5c 5d la 5a 5b bYs 5d la 5a 5b bYs 5d la 5a 5b oS¢ 5d la 5a 5b 5¢ 5d la 5a 5b 5c 5d la 5a 50 5¢ 5d la 5a 50 5¢ 5d la 5a 50 5¢ 5d la 5a 50 5¢ 5d la 5a 5b 5c 5d la 5a 5b Y 5d la 5a 5d
T-xa+1-xo+1-x3+1-xa+1-x5+1-x6+1-x7+1-x8+0-x9+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-X16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-X30+0-x40| 8 8 8 3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x4+0-x5+0-x6+0-x74+0-xs+1-xo+1-x10+1-x11+1-x12+1-x13+1-x1a+1-x15+1-x16+0-x17+0-x18+0-X10+0-x20+0-x21+0-x22+0-x23+0-X24+0-x25+0-x26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x3s+0-x30+0-x20| 8 8xE(5) 8*E(5)2 8*E(5)3 8*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-x15+0-x16+1-x17+1-x1s+1-Xx10+1 -x20+1-Xxo1+1-Xxo2+1-Xxa3+1 X2a+0-xa5+0 X26+0 xar+0-Xx25+0-x290+0 X30+0-x31+0-X32+0-x33+0 X3a+0-x35+0-X36+0-x37+0-x35+0-x30+0-xa0 | 8 8xE(5)? 8xE(5)* 8xE(5) 8xE(5)>| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16+0-X17+0-x158+0-X10+0-X20+0-x21 +0-X22+0-x23+0-X2a+1-xa5+1 Xx26+1-xor+1 Xxas+1-x0+1 Xs0+1-xs1+1 Xs2+0-x33+0 Xx3a+0-x35+0-X36+0-x37+0-x35+0-x30+0-xa0| 8 8xE(5)> 8xE(B) 8xE(B) 8xE(5)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+0-x21+0-x224+0-x23+0-x24+0-x254+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+1-x33+1-x3a+1-x35+1-x36+1-x37+1-x38+1 -Xx390+1-xa0]| 8 8*E(5)4 8*E(5)3 8*E(5)2 8*E(5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-%x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-%x36+0-x37+0-x38+0-X30+0-x40| 4 4 4 4 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-X114+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-Xx17+0-x158+0-X10+0-X20+0-x21 +0-X22+0-x23+0-Xx2a+1-xa5+0-Xx26+1 - xar+0-Xx2s+1-x20+0 X30+1-x31+0 X32+0-x33+0 X3a+0-x35+0-X36+0-x37+0-Xx35+0-x30+0-xa0 | 4 4xE(5)? 4xE(B) 4xE(B)* 4xE(B)?| 4 4xE()® 4xE(G) 4xE(G)* 4xE(5)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10+1-x11+0-x12+1-x13+0-x14a+1-x15+0-x16+0-x17+0-x18+0-x19+0-X20+0-x214+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-%x31+0-x324+0-x33+0-Xx34+0-x35+0-x36+0-x37+0-x38+0-X39+0-x40 | 4 4*E(5) 4*E(5)2 4*E(5)3 4*E(5)4 4 4*E(5) 4*E(5)2 4*E(5)3 4*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-X20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-%x30+0-Xx31+0-x32+1-x33+1-X34+0-x35+0-x36+0-x37+0-x38+1-Xx30+1-xa0| 4 4*E(5)4 4*E(5)3 4*E(5)2 4x E(5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4*E(5)4 4*E(5)3 4*E(5)2 4% E(5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-Xx6+0-Xx7+0-xs+0-xo+0-x10+0-Xx114+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+1-Xx17+1-x18+0-X10+0-X20+0-X21 +0-X22+1-xa3+1-X2a+0-x25+0-X26+0-x2r+0-X25+0-x29+0X30+0-x31+0X32+0-x33+0 X34+0-x35+0-X36+0-x37+0-Xx35+0-x30+0-xa0 | 4 4xE(5)? 4xE(B)* 4xE(B) 4xE(5)>| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4% E(5)? 4xE(B)* 4xE(B) 4xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+1-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x174+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x234+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-X36+0-x37+0-x38+0-X390+0-xa0 | 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x74+0-x3+0-X0+0-x10+0-x11+0-x124+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-x19+0-X20+0-x21+0-x22+0-x23+0-x2sa+1-x25+0-x26+0-x27+1-Xx28+0-x29+1-x30+1-X31+0-x32+0-x33+0-Xx34+0-x354+0-x36+0-x37+0-x38+0-x39+0-xa0 | 4 4*E(5)3 4% E(5) 4*E(5)4 4*E(5)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4*E(5)3 4x E(5) 4*E(5)4 4*E(5)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+1-x12+0-x13+1-x1a+1-x15+0-x16+0-x17+0-Xx18+0-x10+0-x20+0-x21+0-x224+0-x23+0-X2a+0-Xx25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-X32+0-x33+0-x3a+0-x35+0-x36+0-x37+0-x35+0-Xx30+0-x0 | 4 4*xE(5) 4xE(5)*> 4xE(5)* 4xE(B)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4% E() 4xE()? 4xE(5)® 4xE()*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-Xx7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16+0-Xx17+0-x158+0-X10+0-X20+0-X21 +0-X22+0-x23+0-X2a+0-x25+0-X26+0-x2r+0-X2s+0-x20+0-X30+0-x31+0-Xs2+1-x33+0 Xx3a+0-x35+1-Xx36+0-xs7+1-xss+1-x30+0-xa0| 4 4xE(B)* 4xE()> 4xE(5)? 4xE(5) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4% E(B)?* 4xE()® 4xE(5)? 4%xE(5) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-x19+1-X20+0-x21+1-xo2+1-XxX23+0-x24+0 x25+0-x26+0-x27+0-Xx28+0-x20+0-%x30+0-%x31+0-x324+0-x33+0-Xx34+0-x35+0-x36+0-x37+0-x38+0-X39+0-x40 | 4 4*E(5)2 4*E(5)4 4*E(5) 4*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4*E(5)2 4*E(5)4 4*E(5) 4*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I-x1+1-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-Xx17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x39+0-x40 | 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-Xx6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-X134+0-x14+0-x15+0-x16+1-Xx17+1-x18+0-X10+0-X20+0-X21+0-X22+0-x23+0-X2a+0-x25+0X26+0x2r+0-Xx25+0-x20+0-X30+0-x31+0-X32+0-x33+0 X3a+0-x35+0-X36+0-x37+0-x3s+0-x30+0-xa0 | 2 2xE(5)? 2xE(B)* 2xE(5) 2xE(5)*| 0 0 0 0 0 2 2xE()? 2xE(B)* 2+xE(B) 2+xE(G)?| 0 0 0 0 0 2 2xE(5)? 2xE(B)* 2xE(B) 2xE(5)?| 0 0 0 0 0 2 2xE()? 2xE(B)* 2xE(B) 2xE()?| 0 0 0 0 0 2 2xE()? 2xE(B)* 2+E(B) 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-Xx1+0-x24+0-x3+0-xa+0-Xx5+0-x6+0-x7+0-xs+0-X0+0-x10+0-Xx11+0-x12+0-x134+0-x14+0-X15+0-x16+0-x174+0-x18+0-Xx19+0-Xx20+0-x21+0-x22+0-x23+0- X214 +0-x25+0-x26+0-x27+0- X258 +0-x20+0-x30+0-x31+0-Xx32+1-Xx33+1-x34+0-x35+0-x36+0-Xx37+0-x35+0-x30+0-xa0 | 2 2xE(B)* 2xE(5)* 2xE(5)?> 2xE®B) | 0 0 0 0 0 2 2xE(B) 2xE(5)® 2xE(5)? 2xE(5) | 0 0 0 0 0 2 2xE(5)?* 2xE(5)® 2xE(5)? 2xE() | 0 0 0 0 0 2 2xE()* 2xE(5)® 2xE(5)?2 2xE() | 0 0 0 0 0 2 2xE(B)? 2xE(5)® 2xE(5)?2 2xE(5) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+1-x0+1-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+0-x17+0-x18+0-X10+0-x20+0-x21+0-Xx22+0-x23+0-x24+0-x25+0-x26+0:-x274+0-x28+0-x29+0-x30+0-x31+0-x32+0-x334+0-x34+0-x35+0-%x36+0-x37+0-x38+0-Xx30+0"xa0 | 2 2*E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 2 2*E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 2 2*E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 2 2*E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 2 2*E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-Xx3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x154+0-x16+0-X17+ 0 X158 +0- X190 +0-x20 + 0 x21 +0- X204+ 0- X235+ 0 X2a +1-x25+1-x26 +0-x27+ 0 x25 + 0 X20+0-X30+ 0 Xx31 +0-x32+0-x33+0-x30+0-x35+0-X36+0-X37+0-x3s +0-x30 +0-xa0 | 2 2% E(5)> 2xE(B) 2xE()* 2xE(5)?| 0 0 0 0 0 2 2xE(5)® 2xE(5) 2xE()* 2xE()*| 0 0 0 0 0 2 2xE(5)° 2xE() 2«BE(()! 2xE(5)*| 0 0 0 0 0 2 2xE(5)° 2xE() 2«E(()! 2+xE()*| 0 0 0 0 0 2 2xE()° 2+E() 2xE()* 2xE(5)*] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-x36+0-x37+0-x38+0-x39+0-x40| 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x74+0-xs+0-x9+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+1-x17+0-x18+1-X10+0-x20+0-x21+0-Xx22+0-x23+0-x24+0-x25+0-x26+0:-x274+0-x28+0-x29+0-x30+0-x31+0-x32+0-%x334+0-x34+0-x35+0-%x36+0-x37+0-x38+0-Xx30+0"xa0 | 2 2*E(5)2 2*E(5)4 2*E(5 2*E(5)3 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x134+0-Xx14+0-x15+0-x16+0-X17+0-x184+0-Xx190+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27 +0-x28+0-x20+0-Xx30+0-x31+0-x32+1-Xx33+0-x34a+1-x35+0-Xx36+0-x374+0-x38+0-Xx30+0"xa0| 2 Q*E(5)4 Q*E(5)3 Q*E(5>2 2%« E(5) | 2 Q*E(5)4 2*E(5)3 2*E(5)2 2+« E((5) | 0 0 0 0 0 0 0 0 0 0 2 2*E(5)4 2*E(5)3 2*E(5)2 2% E(5) | 2 2*E(5)4 2*E(5)3 2*E(5)2 2% E() | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)4 2*E(5)3 2>(<E(5)2 2+« E((B) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-X2+0-y3+0-xa+0-X54+0-x6+0-x7+0-ys+1-x0+0X10+1-x11+0-X12+0-x13+0-X14+0-x15+0- X164+ 0+ x17 +0- X158 + 0+ 19 + 0 X20 &+ 0+ Y21 +0- X224 0+ Y23 + 0 Xau + 0+ Ya5 + 0 Xa6 & 0+ yar + 0 Xas + 0+ Y29 +0-X30 + 0 Y31 +0- X324 0- Y33 +0- X34+ 0- Y35 +0-X36+0- Y37 +0- X35+ 0-x30 +0-xa0 | 2 2%E(5) 2xE(5)2 2+«E(G)? 2+E(B)| 2 2+B(5) 2+E(5)? 2+E()? 2+«EG)Y| 0 0 0 0 0 0 0 0 0 0 2 2+ E(5) 2xE()? 2+E() 2xEG)| 2 2+B(5) 2+E(G)? 2xE(5)} 2xEG)Y| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 24E(5) 2xE()? 2+E()} 2xE(G)| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-x21 +0-x20+0-x234+0-Xos+1-X25+0-x26+1-x27+0-xog+0-x294+0-%30+0-x31+0-x32+0-x33+0-x344+0-x35+0-x36+0-x37+0-x38+0-x30+0-xa0 | 2 2*E(5)? 2+E(5) 2xE(B)* 2xE(5)2| 2 2+E(5)? 2+xE(5) 2xE(B)* 2+E(5)2| 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE() 2+xE(B)* 2+E(5)2| 2 2+xE()? 2xE(5) 2+«E(5)* 2xE()2| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B) 2+«E(5)* 2+xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-%24+0-x25+0-x26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x39+0-xa0 | 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+1-X17+0-x158+0-x190+1-x20+0-x21+0-x22+0-x23+0-X2a+0-X25+0-X26+0-x27+0-x28+0-x20+0-x30+0-x31+0-X32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x3s+0-Xx30+0-xa0 | 2 2xE(5)? 2+«+E(5)* 2xFE(5) 2xE()?| 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE(B)?Y 2xE(B) 2+xE(5)?| 2 2xE(5)? 2xE(B)Y 2xE(B) 2xE(5)| 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE(B)Y 2xE(B) 2xE()?| 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B)Y 2xE(B) 2xE()*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x134+0-x14+0-x15+0-x16+0-x17+0-x184+0-X19+0-X20+0-x21 +0-x220+0-x23+0-x24+0-X25+0-x26+0-x27+0-xog+0-x294+0-x30+0-x31+0-x32+1-x33+0-x34+0-x35+1-X36+0-x37+0-x38+0-x30+0-xa0 | 2 2*E(B)* 2+xE(5)? 2xE()2 2xE(5) | 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE(5)? 2xE(G)2 2xE(G) | 2 2+E(B)* 2+xE(5) 2xE()?2 2xE(5) |0 0 0 0 0 0 0 0 0 0 2 2xE(B)? 2+xE(5)? 2xE(5)2 2xE() | 0 0 0 0 0 0 0 0 0 0 2 2xE(B)? 2xE(5)? 2+E(5)2 2xE() | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-X17+0- X158 +0-x190+0-x20+0-x21 +0- X224+ 0- X235+ 0 X214 + 0 x25+0- x26 +0- x27 + 0 x28 + 0 X20+0-X30+ 0 Xx31 +0-x32+0-x33+0-x30+0-x35+0-x36+0-Xx37 +0-x38 +0-x30 +0-xa0 | 2 2xE(5) 2xE((5)? 2xE()?® 2«E(5)*| 0 0 0 0 0 0 0 0 0 0 2 2xE(5) 2xE(5)? 2xE()® 2+«E()Y| 2 2xE() 2xE(5)? 2xE(5)® 2xE()*| 0 0 0 0 0 0 0 0 0 0 2 2xE(5) 2xE(5)? 2+E(5)? 2+xEG)*| 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(5)? 2+E(5)? 2+xE(B)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-Xx5+0-x6+0-x7+0-xs+0-X0+0-x10+0-Xx11+0-x12+0-x134+0-x14+0-Xx15+0-x16+0-x174+0-x18+0- X190 +0-x20+0-x21 +0-x22+0-Xx23+0- X204 +1-x25+0-x26+0-x2r+1- X258 +0-x20+0-x30+0-x31+0-Xx32+0- X33 +0-x34+0-x35+0-x36 +0-X37 +0-x35+0-x30+0-xa0 | 2 2xE(5)® 2xE(5) 2xE(5)* 2xE()?| 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE(B) 2xE(5)?* 2+«E()?2| 2 2xE(5)? 2xE(B) 2xE(5)* 2+xE(5)?2| 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B) 2xE()* 2xE()?| 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B) 2+«E()?* 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-X13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-X190+0-Xx20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-Xx36+0-x37+0-x33+0-X30+0-x40| 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+1-x17+0-x184+0-X19+0-X20+1-x21 +0-x20+0-x23+0-x2a4+0-X25+0-X26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-%36+0-x37+0-x38+0-x30+0-xa0 | 2 2xE(5)? 2«E(5)* 2+E(5) 2+xE(5)3| 2 2+xE(5)? 2+«E(5)* 2+xE(5) 2+xE(GB)3| 2 2+E(5)2 2+«E()* 2xE(5) 2+«E(5)?| 2 2+xE()? 2xE(5)* 2+E(B) 2+xE(5)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()?2 2xE(B)* 2+«E(B) 2+xE(G)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+0-Xx10+0-Xx11+0-x12+0-x13+0-x14+0-x154+0-X16+0-X17+0- X158 +0-x190+0-x20+0-x21 +0- X204+ 0- X235+ 0" X214 +0-x25+0-x26+0-x27+0-x25+0-X20+0-X30+0-x31+0-x32+1-x33+0-x3a+0-x35+0-Xx36+1-Xx37+0-x38+0-x30+0-xa0 | 2 2xE(5)* 2«E(5)® 2xE(5)? 2xE(B) | 2 2xE()* 2xE(5)® 2«E(5)?2 2«E(5) | 2 2xE(B)* 2xE()® 2xE(5)? 2«E(5) | 2 2«E(B)? 2xE()® 2xE(5)? 2xE(5) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(B)* 2xE(5)? 2+E(5)2 2xE() |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0:-x2+0-x34+0-x4+0-x5+0-x6+0-x74+0-xs+1-x0+0-x10+0-x11+0-x124+1-x15+0-x14+0-x15+0-x16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-x22+0-x23+0-X24+0-x25+0-x26+0-x27+0-x28+0-Xx29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x3s+0-x39+0-x40| 2 2xE(5H) Q*E(5)2 2*E(5)3 Q*E(5)4 2 2xE(H) Q*E(5)2 2*E(5)3 2*E(5)4 2 2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 2 2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(H) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+0-Xx10+0-x11+0-x12+0-x13+0-X14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-X21 +0-x22+0-x23+0-x2a+1-X25+0-X26+0-x27+0-x28+1-x20+0-%x30+0-x31+0-X32+0-x33+0-x34+0-x35+0-x36+0-x37+0-Xx358+0-x30+0-xa0 | 2 2xE(5)> 2xE(5) 2xE(5)?* 2xE(5)?2| 2 2xE(5)? 2+E(5) 2xE(G)* 2xE(B)2| 2 2+xE(5)? 2xE(5) 2xE(B)* 2+xE()?2| 2 2xE(5)? 2xE(5) 2xE(B)* 2xE(5)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B) 2+xE(5)?* 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+0-x5+1-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-Xx30+0-x31+0-x32+0-x33+0-x32+0-x35+0-%x36+0-x37+0-x38+0-%x39+0-x40| 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-Xx6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16+1-Xx17+0-x158+0-X10+0-x20+0-x21+1-X22+0-x23+0-X2a+0-x25+0-X26+0-x2r+0-X2s+0-x20+0-X30+0-x31+0-X32+0-x33+0 X3a+0-x35+0-X36+0-x37+0-x3s+0-x30+0-xa0 | 2 2xE(5)? 2xE()* 2xE(5) 2xE(5)*| 0 0 0 0 0 2 2xE()? 2xE(B)* 2+xE(B) 2+xE()| 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(5)* 2xE(B) 2xE(5)?| 0 0 0 0 0 2 2xE()? 2xE(B)* 2xE(B) 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(B)* 2xE(5) 2+xE()*| 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-x21 +0-x22+0-x23+0-%24+0-X25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+1-x33+0-x34+0-x35+0-x36+0-x37+1-x38+0-x30+0-xa0 | 2 2*E(B)* 2+xE(5)? 2xE()? 2xE(5) | 0 0 0 0 0 2 2xE(B)? 2xE(5)? 2+xE(5)2 2xE() |0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(5)? 2xE()?2 2+E(5) | 0 0 0 0 0 2 2xE()? 2xE(5)? 2xE(5)?2 2xE(5) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(B)? 2xE(5)? 2+xE(5)2 2xE() | 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+0-Xx10+0-x11+0-x12+0-x13+1-xX14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-X21 +0-x22+0-x23+0-%24+0-x25+0-X26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-xa0 | 2 2xE(5) 2+xE(5)? 2xE()® 2xE(5)*| 0 0 0 0 0 2 2xE() 2xE(5)? 2xE(5)? 2xE()Y| 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(5)? 2xE()? 2xE(5)| 0 0 0 0 0 2 2xE(5) 2xE(5)? 2xE(5)? 2xE(5)| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(5)? 2xE(5)? 2xE()Y| 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-X17+0- X158 +0- X190+ 0-x20 +0-x21 +0-x224+0-x23+0-Xx2a+1-X25+0-X26+0-x27+0-x28+0-x20+1-x30+0-x31+0-X32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x35+0-Xx30+0-xa0 | 2 2%E(5)> 2x«E(5) 2x«E(5)* 2xE(5)?2| 0 0 0 0 0 2 2xE()?® 2xE(B) 2+xE(5)? 2xE()?| 0 0 0 0 0 0 0 0 0 0 2 2xE(5)?2 2xE(5) 2+xE(5)* 2xE()?| 0 0 0 0 0 2 2xE()? 2xE(B) 2xE(B)* 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(B) 2+xE(5)? 2xE()?| 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-x36+0-x37+0-x38+0-Xx39+0-x40| 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+1-x17+0-x18+0-Xx10+0-x20+0-x21+0-x22+1-x23+0-x24+0-x25+0-x26+0:-x274+0-x28+0-x290+0-x30+0-x31+0-x32+0-x334+0-x34+0-x35+0-%x36+0-x37+0-x38+0-Xx30+0"xa0 | 2 2*E(5)2 2*E(5)4 2% E(5 2*E(5)3 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2% E(5) 2*E(5)3 2 2*E(5)2 2*E(5)4 2% E(5 2*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2*E(5) 2*E(5)3 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-X21 +0-x22+0-x23+0-X2a+0-x25+0-x26+0-x27+0-xa8+0-x29+0-x30+0-x31 +0-x32+1-x33+0-x34+0-x35+0-x36+0-x37+0-x3s+1-x30+0-xa0| 2 2*xE(B)* 2xE(5)® 2xE()? 2xE(5) | 2 2+«E(5)? 2xE()® 2xE(5)?2 2xE(5) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(5)? 2xE(5)® 2xE(5)?2 2+xE(5) | 2 2xE() 2xE(5)? 2xE(5)2 2xE(5) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(5) 2xE(5) 2xE()?2 2+xE() | 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x4+0-x5+0-x6+0-x74+0-xs+1-x0+0-x10+0-x11+0-x124+0-x13+0-x14a+1-x15+0-x16+0-x17+0-x18+0-X10+0-x20+0-x21+0-x22+0-x23+0-X24+0-x25+0-x26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x3s+0-x30+0-x20| 2 2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 2 2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2  2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 2  2xE(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2% E(5) 2*E(5)2 2*E(5)3 2*E(5)4 0 0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-X15+0-x16+0-x17+0-x18+0- X190 +0-x20+0-x21 +0-x22+0-Xx23+0- X204 +1-x25+0-x26+ 0 X27 +0- X258 + 0 x20+ 0 x50+ 1-X31 +0-X32+0-x35+0-x30+0-x35+0-Xx36 +0-x37+0-x35+0-x30+0-xa0 | 2 2xE(5)* 2xE((5) 2xE()* 2+«E(5)*| 2 2xE(5)® 2xE() 2xE(5)* 2xE(5)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE(5) 2xE()* 2+«E()?2| 2 2xE(5)? 2xE(5) 2xE(5)* 2+E()2| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE()? 2xE() 2+E(B)* 2xE(5)?| 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+1-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-%24+0-x25+0-%26+0-x27+0-x28+0-Xx29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-Xx39+0-xa0 | 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 0 0 0
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x134+0-Xx14+0-x15+0-x16+1-X17+0-x184+0-x190+0-x20+0-x21 +0-x22+0-x23+1-x24+0-x25+0-x26+0-x27+0-x28+0-x204+0-X30+0-x31+0-x324+0-x33+0-x34+0-x35+0-x36+0-x374+0-x38+0-Xx30+0"xa0 | 2 Z*E(5)2 Q*E(5)4 2% E(5 2*E(5)3 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2% E(5) 2*E(5)3 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2% E(5) 2*E(5)3 2 2*E(5)2 2*E(5)4 2% E(5) 2*E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)2 2*E(5)4 2% E(5) 2*E(5)3 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11 +0-x124+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-x18+0-Xx190+0-x20+0-x21+0-x220+0-x23+0-x24+0-X25+0-x26+0-x27+0-x28+0-x20+0-%x30+0-x31+0-x32+1-Xx33+0-x34+0-x35+0-Xx36+0-x374+0-x38+0-x39+1:xa0]| 2 2*E(5)4 2*E(5)3 2*E(5)2 2% E(5) 0 0 0 0 0 0 0 0 0 0 2 2*E(5)4 2*E(5)3 2*E(5)2 2% FE(5) 0 0 0 0 0 2 2*E(5)4 2*E(5)3 2*E(5)2 2x E(5) 2 2*E(5)4 2*E(5)3 2*E(5)2 2% E(5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)4 2*E(5)3 2*E(5)2 2x E(5) 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-x15+1-x16+0-X17+0-x158+0-X10+0-X20+0-X21 +0-X22+0-x23+0-X2a+0-x25+0-X26+0x2r+0-Xx25+0-x20+0-X30+0-x31+0-X32+0-x33+0 X3a+0-x35+0-X36+0-x37+0-Xx3s+0-x30+0-xa0 | 2 2xE(5) 2xE(5)? 2xE(5)> 2«E(5)*| 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(5)? 2+E(5)? 2+xEG5)*| 0 0 0 0 0 2 2xE() 2xE()? 2xE(5)? 2+«EG5)*| 2 2xE(5) 2xE(5)? 2+E(5)? 2xE(5)?*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE() 2xE(5)? 2+E(5)? 2+xEG5)*| 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x64+0-x74+0-xs+0-x90+0-x10+0-x11+0-x12+0-x134+0-x14a+0-x15+0-x16+0-x17+0-x184+0-x10+0-x20+0-x21+0-x22+0-x23+0-x2a+1-x254+0-x26+0-x27+0-x28+0-%20+0-X30+0-x31+1-x324+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x39+0-xa0| 2 Q*E(E))S 2% FE(5) 2*E(5)4 Q*E(5)2 0 0 0 0 0 0 0 0 0 0 2 2*E(5)3 2% E(5) 2*E(5)4 2*E(5)2 0 0 0 0 0 2 2*E(5)3 2% FE(5) 2*E(5)4 2*E(5)2 2 2*E(5)3 2% E(5) 2*E(5)4 2*E(5)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(5)3 2% E(5) 2*E(5)4 2*E(5)2 0 0 0
I-x1+0-x24+0-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-X15+0-x16+0-Xx17+0-x18+0-X19+0-x20+0-x21+0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28 +0-x20+0-Xx30+0-x31+0-x32+0-x33+0-Xx34+0-x35+0-x36+0-x37+0-x38+0-x39+0-xa0| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-X18+0-X19+0-Xx20+0-X21+0-Xx22+0-Xx23+0-X24+0-x25+0-x26+0-x27+0-x28+0-Xx20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x39+0-xa0| 1 E(5) E(5)? E(5)® E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)* E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5 E(5)? E(5)3 E(5)* 1 E(5 E(5)? E(5)3 E(5)4 1 E(5) E(5)? E(5)3 E(5)4 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5) E(5)? E(5)3 E(5)* 1 E(5 E(5)? E(5)3 E(5)* 1 E(5 E(5)? E(5)3 E(5)* 1 (5 3 EBE(5)4
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-xX17+0-X18+0-X10+0-Xx20+0-x21+0-Xx22+0-Xx23+0-Xx24+0-x25+0-x26+0-x27+0-x28+0-X20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x39+0-x40]| 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5 E(5)3 1 E(5)? E(5) E(5) E(5)3 1 E(5)? E(5) E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)4 E(5) E(5)3 1 E(5)? E(5)4 E(5) E(5)3 1 E(5)? E(5)4 E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5 E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)? E(5)* E(5) E(5)3 1 E(5)3
0-x1+0-Xx2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-X9+0-Xx10+0-x11+0-X12+0-X13+0-Xx14+0-X15+0-x16 +0-x17 +0- X218 +0- X109 + 0 X20 + 0 x21 +0- X220 +0- x23 + 0 x24 + 1 x25 + 0 x26 + 0 x27 +0- x28 +0- x20 +0- x30 +0- x31 +0- x32 +0- x33 +0- x34 +0- x35 +0- x36 +0-x37 +0-x38+0-x30 +0-xa0 | 1 E(5)° E(5) E(5)* E(G)? |1 E(5)? E(5) E(5)* E(G)? |1 E(5)? E(5) E(5)* E(G)? |1 E(5)? E(5) B(5)* EG(G)? |1 E(5)? E(5) B(5)* E(G)? |1 E(5)? E(5) E(5)* E(G)? |1 E(5)° E(5 E(5)* E(G)? |1 E(5)° E(5 E(5)* E(5)? |1 E(5)° E(5) E(5)* EG(G)? |1 E(5)° E(5) B(5)* E(5)?* |1 E(5)° E(5) E(5)* E(5)?* |1 E(5)? E(5) E(5) E(5)?* |1 E(5)° E(5) E(5)* E(5)?* |1 E(5)? E(5) E(5)* E(5)? |1 E(B)° E(5) E(5)! E(G)? |1 E(5)?
0-x1+0-Xxo+0-x3+0-xa+0-x5+0-Xx6+0-x7+0-xs+0-Xx9+0-Xx10+0-Xx11+0-Xx12+0-Xx13+0-x14 +0-X15+0- x16 +0- x17 +0- x18 +0- X109 +0- x20 +0- x21 +0- X220 +0- x23 +0- x24 +0- x25 +0- x26 +0- x27 +0- x28 +0- x20 +0- x30 +0- x31 +0-x32 +1-x33 +0- x34 +0-x35 +0-x36 +0-x37+0-x38 +0-x30 +0-xa0 | 1 E(5)* E(5)° E(5)° E(5) 1 BB E(5)° E(5)? E(5) 1 BB E(5)° E(5)? E(5) 1 BB E(5)° E(5)? E(5) 1 BB E(5)° E(5)? E(5) 1 BB E(5)° E(5) E(5) 1 EG)! E(5)° E(5)? E(5) 1 EG) B(5)° B(5)? E(5) 1 E@G) B(5)° B(5)? E(5) 1 E@G) E(5)° B(5)? E(5) 1 E() E(5)° E(5)? E(5) 1 BB E(5)° E(5)° E(5) 1 BB E(5)° E(5)° E(5) 1 BB E(5)° E(5)° E(5) 1 BB E(5)° E(5)° E(5) 1 E(5)
Py = Group([()]) = 1
P, = Group([(5,6)]) = C2
P; = Group([(3,4)]) = C2
P, = Group([(3,4)(5,6)]) = C2
Ps = Group([(1,2)]) = C2
Ps = Group([(1,2)(5,6)]) = C2
P; = Group([(1,2)(3,4)]) = C2
Ps = Group([(1,2)(3,4)(5,6)]) = C2
Py = Group([(3,4), (1,2)]) =2 C2 x C2
Pyy = Group([(5,6), (1,2)]) = C2 x C2
P11 = Group([(3,4)(5,6), (1,2)]) =2 C2 x C2
Py5 = Group([(5,6), (3,4)]) = C2 x C2
P35 = Group([(3,4), (1,2)(5,6)]) = C2 x C2
Py = Group([(5,6), (1,2)(3,4)]) = C2 x C2
Pi5 = Group([(3,4)(5,6), (1,2)(5,6)]) = C2 x C2
Pig = Group([(5,6),(3,4),(1,2)]) =2 C2 x C2 x C2
Ny = Group([(1,2),(3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ny = Group([(1,2),(3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
N3 = Group([(1,2),(3,4),(5,6),(7,8,9,10,11)]) = C10 x C2 x C2
N, = Group([(1,2),(3,4),(5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ns = Group([(1,2), (3,4), (5,6), (7,8,9,10,11)]) = C10 x C2 x C2
Ne = Group([(1,2), (3,4), (5,6), (7.8,9,10,11)]) = C10 x C2 x C2
N7 = Group([(1,2),(3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ns = Group([(1,2),(3,4),(5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ng = Group([(1,2),(3,4),(5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ny = Group([(1,2), (3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ny = Group([(1,2), (3,4), (5,6), (7,8,9,10,11)]) = C10 x C2 x C2
Nis = Group([(1,2),(3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ny3 = Group([(1,2),(3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Ny = Group([(1,2), (3.4), (5,6), (7,8,9,10,11)]) = C10 x C2 x C2
N5 = Group([(1,2), (3,4), (5,6),(7,8,9,10,11)]) = C10 x C2 x C2
Nig = Group([(1,2), (3,4), (5,6), (7,8,9,10,11)]) = C10 x C2 x C2



